123-039( 791) (1/1)

cm
10|20
10(20|30
0 10 20 30 40 50 60
E 0.60 0.6 =
— AYAYAYAYAY —
E \VAVAVAVAY] =
AN 7
(VAVAVAVAY] |1.15 | i =
AN
VAV T =
IAYAYAVAWAY N -
JOLOUN E
(VAVAVAVAY] 2.15| 2 115 =
NNANN / /|7 =
(VAVAVAVAY] 5] 2]5 ]3] 9 E
AN 2.45 =
(VAVAVAVAY] =
NN =
\VAVAVAVAY; 3.15 3 —
IAYAYAYAWAY | / —
(VAVAVAVAY] 11113l 4 3
AN =
(VAVAVAVAY] 3.45 =
AN =
(VAVAVAVAY]
NAAAN 14.15 | 3 j =
A\YAVAVAVAY -
IAYAYAYAYAY 1 1 15 [ 35 | 3.4 —
A\YAVAVAVAV 4.50 —
AN 3
(VAVAVAVAY] =
AN 560 51811 [1]3 =
(VAVAVAVAY] - IAvARAV; 3
AN 13]12]8[33] 2.7 =
A\YAVAVAVAY 5.48 —
IAYAYAYAYAY —
A\YAVAVAVAV -
AN 615] 2 | 2|15 =
(VAVAVAVAY] =777 =
AN wlizl s ]3] ad E
6.70 610" V/ VIV AT =
I =
T =
itn 7.15 } 5 -
n -
it 21 31| 1.9 =
IV 7.46 =
8.15 1013 =
AVARA; l\ 3
14|13]5[32]2.4 =
8.60 8.47 — E
9.15 / /
8|7 17 |88.2

50

10.40 20 25

H
s
-
5
=
5
o~
~
=
3
LU

10.40 /
11.15 v =
915]5[3] 19 by =
T1.45 \ =
23 50 — =
~~~~~ 12.15 / / -
27| 5 15 | 10 |
~~~~~ 12.30
12.90 2.50 . ... 3
13.15 AN
F |13.40 050" """ 15 [ 14 | 7 |27 |55.4 — =
E Oéoéo 13.42 =
E oéoéo 50 50 =
14 ~0- 0~ / /
F 0-0x0 14.15) o 9 | 167 —\ =
E 59595 4.2 =
E ~0-0- =
E 05050 50 50 3
15 NP5% ¢ / / =
E l1s.22 1.890-0- 0 115.15} 7 7 | 214 N




